
07/12

9

30

29

31

21

7

6

8

10

9

14
5

2

1

124

15

3

11

25

26

20

19

18

23

54

55
56

57

40

39

37

37

58

61

62

33

34

35

17

24

42

41

44

43
45

38

36
46

43

59

50

36

48

47

53

52
51

28
27

37

18

22

60

1
2

11
2I

9

9

1

2

13

63 64

16

UNI 4 Motor Assembly & Parts List Nr. Description Qty Part No.
1 Armature 240V 1 EIB357
1 Armature 110V 1 EIB357-1
2 Uni3/4 Armature Bearing Cap 1 EIB194
3 Field Coil 240V 1 EIB360-2
3 Field Coil  110V 1 EIB360-1
4 Fan cover 1 EIB362
5 Motor Housing 1 EIB019
6 Brush Holder 2 EIB036
7 Carbon Brush 2 EIB047
8 Screw      HC 2,9x13 4 EIB196
9 Brush Cover 2 EIB020
10 Screw      HC 4,2x13 2 EIB154
11 Spring Washer      S6 2 EIB197
12 Screw HC 4,2x25 2 EIB155
13 Capacitor 1 EIB139
14 Drill Cap 1 EIB364
15 Screw HC 4,8x50 4 EIB157
17 Gear Box Housing 1 EIB365
18 Gear Change Assembly 2 EIB017
19 Gear Plate Shield 1 EIB366
20 Gear Box Gasket 1 EIB367
21 Screw 4,5x50 4 EIB368
22 Gear Plate 1 EIB369
23 Gear Lever 1 EIB370
24 Gear Lever 1 EIB371
25 Screw M5x2,5 4 EIB372
26 M5 Spring Washer 4 EIB082
27 Needle Bearing RNA 4900 1 EIB162
28 Washer 1 EIB163
29 Bearing "6201 2RS 1 UDC024
30 Circlip 32/1,2 1 EIB043
31 Circlip11.1 1 EIB143
33 Circlip 55/2 1 EIB374
34 Washer 1 EIB375
35 Bearing 6006 2RS 1 UDC007
36 Bearing 6000 2 UDC001
37 Needle Bearing HK 0810 3 UDC020
38 Clutch Gear assembly 1 EIB373
39 Trailer Gear 1 EIB378
40 Fitting Key 5x5x10 1 EIB146
41 Clutch Gear - Worm Drive (standard) 1 EIB060
41 Clutch Gear - Straight Drive (FR only) 1 EIB060-A
42 Clutch Coupling 1 EIB015
43 Washer 28/12,2x1 4 EIB147
44 Thrust Washer 1 EIB379
45 Washer 12/18x2,0 1 EIB148
46 Circlip 9 1 EIB149
47 Trailer Gear 1 EIB380
48 Fitting Key A5x5x28 1 EIB034
50 Gear Block 1 EIB381
51 Trailer Gear 1 EIB382
52 Fitting Key A6x6x40 1 EIB383
53 Gear Block 1 EIB384
54 Circlip 47/1,75 1 EIB385
55 Bearing 6005 2RS 1 UDC005
56 Compressor Ring 25x0,1 1 EIB165
57 Main Gear 1 EIB016
58 Circlip 24/1,2 1 EIB041
59 Thrust Washer 1 EIB386
60 Locating Dowell 5x16 1 EIB387
61 Spindle 1 EIB388
62 Key B6x6x20 1 EIB164
63 Eibenstock Cable Clip 1 EIB085
64 Screw HC 4,2x19 1 EIB359


